
Variable: Etil-acetát tartalom, m/m%   Mean: 31.9901
Sigma (Total):0.22708 Sigma (Within):0.00000

Specifications: LSL=31.5000 Nominal= ----   USL=32.5000
Normal: Cp=.7339 Cpk=.7193 Cpl=.7193 Cpu=.7485

Exclude cases: 1:2
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X and Moving R Chart; variable:  Etil-acetát tartalom, m/m%

LSL=31.5,  USL=32.5
X: 31.990 (31.990); Sigma: .23337 (.23337); n: 1.
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Moving R: .26333 (.26333); Sigma: .19895 (.19895); n: 1.
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Normal Probability Plot of Etil-acetát tartalom, m/m%

Eluens Drospirenonhoz_ve.sta 10v*183c
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 Etil-acetát tartalom, m/m%:  SW-W = 0.9649, p = 0.0002  



 

Variable: Víztartalom, %   Mean: .093094
Sigma (Total):0.01808 Sigma (Within):0.00000
Specifications: Nominal= ----   USL=.200000

Normal: Cpk=1.971 Cpu=1.971
Exclude cases: 1:2

 Total
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X and Moving R Chart; variable:  Víztartalom, %
USL=0.2

X: .09309 (.09309); Sigma: .01029 (.01029); n: 1.
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Moving R: .01161 (.01161); Sigma: .00877 (.00877); n: 1.
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Normal Probability Plot of Víztartalom, %
Eluens Drospirenonhoz_ve.sta 10v*183c

0.04 0.06 0.08 0.10 0.12 0.14 0.16

Observed Value

-3

-2

-1

0

1

2

3

E
xp

ec
te

d 
N

or
m

al
 V

al
ue

 Víztartalom, %:  SW-W = 0.9545, p = 0.00001  


